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{ The figures in the margin indicate full marks
( Jfor the questions

1. WWWWWWWW: 1x5=5

Choose the correct answer from the following
alternatives :

(@) TR R ITFTOR @SIF T T =]

The sum of frequencies of all classes
will always equal to

() 1
(i) AT RO RN TN O

the number of observations in the
data set
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(2)

(iti) AT TRIE GO
_the number of classes

(iv) O OIF 15 TS ] «BI = Ao
a value between 0 and 1

(b) ﬂﬁoﬁnﬁﬁmﬂmm@amﬁwﬁmﬂ,
C_C@WWQ'?T

If the data are arranged from the lowest
to the hlghest value the value in the
'middle would be ‘

(i) ISR 1 e
arithmetic meah ;
(i) TGN
median
(iii) T=ETT
mode

(iv) STIeF

geometric mean
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(3)

(©) ﬁ'@‘ﬁ R 27 =S
The measures of dispersion cannot be
() v
Zero
(i) AN
negative
(iti) L=
positive
(iv) fof&

three

(d) @Wwwﬁmwmﬁaﬁﬂ@
IO SRS =7 2

Which of the following is not appropriate
for studying the relationship between
two variables?

(i) =A% foq
Scatter plot
(ii) we foq
Bar plot
(i) T
Correlation
(iv) TR

Regression
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(4)

() e wCAfEP TR R

Price relative is equal to

vfere 99 U

(i) x 100
ofe 399 I
price i'n the given year %100
price in the base year

| s 9

(i) Bk i x 100
oo ¥ U
price in the base year <100

price in the given year |

(iti) fer®e T I x 100
price in the given year x 100
(iv) Tofe ¥ 1 x 100

price in the base year x 100

2. oo Wl Ay HKRPY e 41 2x5=10
Answer the following questions in brief :
(@) =R RewF #ARATFRR &3 |

Write the scopes of Statistics.

(b) S @ I Tepy AM S “{1 GiR Bered
S [EeeaE AeeTORT BT I *F 1

Show that the algebraic sum of
deviations of a set of values from their
AM is zero.
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(@)

(e)

(S)

AT oo oy epae o J91 IF I
Ul

Why is standard deviation called ideal
measure of dispersion?

THIZINR (0O (NI S AP T3 TR
Izl

Define positive and negative correlations
with examples.

e TS < spoorlce e x3@T oS < SPpPReS
Tere N 961 Toge TrEAR S R

Distinguish between a fixed base and
a chain base index number along with
a suitable example.

RIS H[F ARAITS ST ASr© AL THRIT
Ote forl | @9se oF ARTET AR IO
e ARl cErmR & 2 Tge SR

Distinguish between qualitative and
quantitative data with examples. What

' are the different measurement scales

P25/448

used for measuring qualitative data?
Explain with suitable examples.
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(6)

24 /Or

() SRR O TGP CARE  aied
SIS STl 91 | Q9 TR W 62

A ¥ B @2 Tl B9 Fogel 1A 91 e
Al 3+2+2=7

Discuss the utility of graphic method of
presenting statistical data. What do you
mean by independence of attribute?
Give a criterion for the independence of
two attributes A and B.

4. (@) I @EE (e ERBIRA TCE ScEe
9| AT 5 SRERT e e R = 2
oryeal @ AM = GM = HM. 3+1+4=8

Discuss the characteristics of an
ideal measure of central tendency. Why
is median called positional average?
Show that AM = GM =2 HM.

%<1 / Or

(b) INFE Ree TR REITPHR U 25fe
T b1 o #AReEe o, S 90 | oA
T 2 29y oG i e @ S
e sihs qofe a1 o PReT Aero A1 1
ST 54 |  3+1+4-8
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S. (a)

Ul )

Describe why measure of dispersion
is a good Supplement to the central
value in Understanding a frequency
distribution. What is skewness? Explain
the procedure of calculating the first
four raw and central ‘moments and

discuss the relationship between the
two. '

() 431 o s w51 voreq W TR
PV SR SR =1, ceroeT <647 |
FECACHT Somm @ NE @RE W
SISRIPTR e <o | 3+3=6

Discuss how with the help of
scatter diagram one can study
the correlation between two
variables. Discuss the various
assumptions considered by Karl
Pearson in developing the

formulae for measuring correlation
coefficient.

() AT T @ NG T TR BT

P25/448

AL Sl ;
fl??ﬂ@l—T—,w d; @ ey qieq
ik =k

FY WSS N1 & | 5
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(b)
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(@)

(8)

Prove that Spearman’s rank
correlation coefficient is given by

o 6§Jdi2

n°-n
difference between the ranks of
ith individual.

, Where d; denotes the

4T /Or

(R TR SfeyRarEr 02
y = a+ bx +cx? T @SR & AR
%5 391, I¥'C a, b WIF ¢ WRFS | 2+4=6
What are the aéSumptions made
in linear regression model? Fit
a second-degree’ parabola of the
form y,=a+bx+¢x2, where a, b

and c are constants. -

GRS ADTR A 2 GRS T2
(IMBPTIR STl 1 | 1+4=5
What = is | multipie correlation?
Discuss the different properties of
multiple correlation.

Pop A T AAST GROR I
Pl 2 7 AP IR AN PO LI
R BRI 1 | 2+4=6
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(b)

P25/448

(9)

Why are index numbers called
€conomic barometers? Discuss the
various problems that are faced
in the construction of index

number.,

(ii)wwaw%m © S 41 3
State the limitations of index
number.

524qr / Or

RS A PRI PPiT2 T TS
I AGRS APF Y@ e T |
SACOIE P OPIRE ol Rfew
TSRS R e 441 | 4+5=9

Show that Fisher’s index number
satisfies both the time-reversal and
factor-reversal tests. Discuss the
different methods of construction of
consumer price index number.
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( Additional 10 marks for 2023 Batch )

7.@‘4%@%@@@?%@%: 5x2=10
Answer any two of the following questions :
(@ =R o TRAR A0 RfSH omafoomz =i
4|

Explain the different methods of
collecting primary data.

b) e @ A @ G jie %W [,
e e W AR oo Koo AE
el@erafie ‘

Show that for any discrete distribution,
standard deviation is not lesslthan mean
deviation from mean.

(c) b1 Tapg A5 CFae GRSl
o —Na3’23

9.3 =
i )z

For a trivariate distribution, show that

- f o —N3’23
1223 N 2 5
Ji-r2)% L -725)
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(d) Paasche’s s Laspeyre’s @ @ Jle|
ReNoTT W Bom ReRIeP
NP AN /9 | |

~

Prove that Paasche’s and Laspeyre’s
methods of constructing index number

do not satisfy time- and factor-reversal
tests.

* %k &
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